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and maintains continuous, detailed analyses of a company’s activities
and provides managers with timely measures of operating results.

COST MODULES convention that is used to classify cost by point where

incurred (resource module), its use (activity module), and its ultimate
user (final cost object module). Activities also feed a process module.

COST OBJECTS intermediate and final dispositions of cost pools.

Intermediate cost objects receive temporary accumulations of costs as
the cost pools move from their originating points to the final cost
objects. Final cost objects, such as a job, product, or process, should
be logically linked with the cost pool based on a cause-and-effect
relationship.

COST OF CAPITAL rate of return that is necessary to maintain market

value (or stock price) of a firm, also called a hurdle rate, cutoff rate,
or minimum required rate of return. The firm’s cost of capital is cal-
culated as a weighted average of the costs of debt and equity funds.
Equity funds include both capital stock (common stock and preferred
stock) and retained earnings. These costs are expressed as annual per-
centage rates. For example, assume the following capital structure and
the cost of each source of financing for the XYZ Company:

Percent of Total

Source Book Value Weights Cost
Debt $20,000,000 40% 5.14%
Preferred stock 5,000,000 10 13.40
Common stock 20,000,000 40 17.11
Retained earnings 5,000,000 10 16.00
Totals $50,000,000 100%

The overall cost of capital is computed as follows:
5.14%(.4) + 13.4%(.1) + 17.11%(.4) + 16.00%(.1) = 11.84%

The cost of capital is used for CAPITAL BUDGETING purposes. Under the
NET PRESENT VALUE METHOD, the cost of capital is used as the DISCOUNT
RATE to calculate the present value of future cash inflows. Under the
INTERNAL RATE OF RETURN method, it is used to make an accept-or-
reject decision by comparing the cost of capital with the internal rate
of return on a given project. A project is accepted when the internal
rate exceeds the cost of capital.

COST OF DEBT interest rate times 1 minus the marginal tax rate

because interest is a tax deduction—symbolically, i(1 — #). Hence, an
increase in the tax rate decreases the cost of debt.

COST OF EQUITY CAPITAL minimum desired rate of return on

invested capital that is determined by calculating net income as a per-
centage of invested capital.
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CAPITAL BUDGETING decision, under the NET PRESENT VALUE (NPV)
METHOD, a project should be accepted if its NPV is positive. Also,
under the INTERNAL RATE OF RETURN (IRR) approach, a project should
be accepted if the IRR of the project exceeds the cost of capital.

DECISION SUPPORT SYSTEM (DSS) branch of the broadly defined
MANAGEMENT INFORMATION SYSTEM (MiS) that provides answers to
problems and that integrates the decision maker into the system as a
component. The system utilizes such quantitative techniques as regres-
sion, linear programming, and financial planning modeling. DSS soft-
ware furnishes support to the accountant in the decision-making
process. It analyzes a specific situation and can be modified as the
practitioner wishes. Models are constructed and decisions analyzed.
Planning and forecasting are facilitated.

DECISION THEORY systematic approach to making decisions espe-
cially under uncertainty. Although statistics such as EXPECTED VALUE and
STANDARD DEVIATION are essential for choosing the best course of action,
the decision problem can best be approached, using what is referred to
as a payoff table (or decision matrix), which is characterized by: (1) the
row representing a set of alternative COURSES OF ACTION available to the
decision maker; (2) the column representing the STATE OF NATURE Or con-
ditions that are likely to occur and over which the decision maker has no
control; and (3) the entries in the body of the table representing the out-
come of the decision, known as payoffs, which may be in the form of
costs, revenues, profits, or cash flows. By computing expected value of
each action, we will be able to pick the best one.

Example I1: Assume the following probability distribution of daily
demand for strawberries:

Daily Demand 0 1 2 3
Probability _ 2 3 3 2

Also assume that unit cost = $3, selling price = $5 (i.e., profit on sold
unit = $2), and salvage value on unsold units = $2 (i.e., loss on unsold
unit = $1). We can stock either 0, 1, 2, or 3 units. The question is: How
many units should be stocked each day? Assume that units from one
day cannot be sold the next day. Then the payoff table can be con-
structed as follows:

State of Nature

0 1 2 3 Expected
2) 3 3 (2 Value

\Demand
Stock\ (probability)

Actions 0 $0 0 0 0 $0
1 -1 2 2 2 1.40
2 -2 1* 4 4 1.90**
3 -3 0 3 6 1.50

*Profit for (stock 2, demand 1) equals (no. of units sold) (profit per unit) — (no. of units
unsold)(loss per unit) = (1)($5 - 3) — (1)($3 - 2) = $1

**Expected value for (stock 2) is: —2(.2) + 1(.3) + 4(.3) + 4(.2) = $1.90. The optimal
stock action is the one with the highest EXPECTED MONETARY VALUE, i.e., stock 2 units.
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